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S22XY 23S U760,948,000+11/360 23,252
JIEFE B 4 132,334
HERE 132,334
=3 53,788, 000+1.051 56,532
Bas+y =35 W 56,532,000+ 1/ 12 4,711
2224 29,845
RIS
((6,343+2%1 )+(6,863+ 12 ) ) #67 Al 2hx 122 1 16,519
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-ortaR Ay
18,3042 3% %3652 *1/3+1.051 7,022
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=3 147,759
-812012¢ 9ui0| ot
1,093,380+22 + 128 *1.051 27,560
-941014 1010/ 8t
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1,139,920%22 x 128l 1.051 28,754
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SN SBBRNABAAY A

Mo HHSAPH (BB NAZ AL L) (JIEH/IIE)

ol D=2l (Etel: &8
SA B RI(BH) - HRAY - BAS 0f - o e bl m =2
122l 127,390 128,320 £930

201 Y2 ] 56,810 55,960 850
01 At el 56,810 55,960 850
ISP 50,000% 12 %1162 5,800
SEENE
B (50,0008 %3652 )+(10,000%1122 )+ 12 19,370
= DIEER=T] 18,200
YL s8I 13,440
202 01H 56,880 58,560 A1,680
01 =UHotHl 56,880 58,560 A 1,680
2US ] 53,760
2AEF 0] 3,120
203 R FETY| 8,900 9,000 A100
01 JI2e Y@= 3,300 3,300 0
AT (42) 3,300
02 HEIIMREA| 1,280 1,320 A40
RIS 40,000%32% 1,280
04 RASYLRET| 4,320 4,380 A60
SASYLRERH (350,00045,00042% ) 122 4,320
204 XA AY| 4,800 4,800 0
01 XMZHDLsA| 4,800 4,800 0
2F(43) 400,000+124 x 12 4,800
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